TH6EE12A

KRERIFRSFFRT 75—~ (24K 0K

FHEERRE 2218%)

B 12/16 ~ 12/23 Forms FUr—bRRE R 313/3074 (EURE 102%) EHEEHR6 128 R6 7H R5
A KL< HTEEL B: POHTEED C: HFEYHTIEESAHL D Foi{ HTEELHL E:  HhLHL wcEmz A+B |c+D 1Btows |aA+B |c+D |a+B  |c+D
mizE BEN | TEM | BEN | TR | RN | TEN (§EnE | FEnE
oy H B Al BlC|D|E ¥R | BR | B8 | BR | BR | BR | = [
[ [
| [PROBBEEREAT N RS =% 173 492 250 19|86 | |1 66.5| 24.9| 4 22| 23| 68.7| 22.6| 91.4] 7.0
HP®A—LEZFAL T, BULHERRE 2
2 | E R A B 5 TS, 25.9 133.9 [19.2 | 8.3 |12.8 59.7| 27.5( 29| 424 56.8 29.9] 93.4| 5.6
5| 3 i’f*’;a’ﬁ*ﬁ%%‘bm*ﬁfﬁ’”ﬂm‘”*? 35.5 [49.5 | 4.8 [0.6 |96 ] | 85.0| 5.4 720407 83.8] 6.1
& ’
) %ElE, BABRESCEAMOTR M 4
2 | 4 Crmacemicing, 60.4 {27.8 {2.9 [ 0.6 8.3 88.2| 3.5 474 7.8]89.6/ 1.7/ 95.0f 1.0
*® 5
5 |%h&lF. EROEOHII—EBHTHS. 65.5 |27.2 | 2.6 | 1.0 | 3.8 92.7| 3.5 473 06| 93.9 2.9] 96.3] 2.3
6
6 |REIONT R A MEEL, 741 (137 (3.2 (2.6 | 6.4 87.9] 5.8 06|48 87.2| 7.5 95.3| 2.0
0% 20% 40% 60% 80% 100%
A K< HTEEES B: POHTEEDS C: HFEYHTEELSHL D Fo< HTEELHL E : hHLEL wcis A+B |c+D 1BLtows |a+B |c+D |a+B  |c+D
Eg & g alslclbple EEEEE'-J E%ﬁﬁaq ‘ﬁ%ﬁﬁa@ ’%ﬁﬁﬂ*} ‘ﬁ%ﬁﬁa@ ’%ﬁﬁﬂ*} ‘ﬁ‘iﬁ&‘].‘é azﬁa&r@
7 |kEDEEETEThMY BT, 49.5 (45.7 | 2.6 | 0.6 | 1.6 95.2| 3.2| 404 7.2] 957 2.0 95.0/ 4.3
o FRFOB/BELMTTHL, WAWSHE
% 8 |l e et s, 48.9 [41.2 | 4.5 (0.0 |5.4 90.1| 4.5 7.4 07] 88.7| 3.8{ 92.7| 3.6
& SMER (T AR, BEAREHE. thah
w9 |2 HEBERZ) LoEEEEN L-%KE|55.9 (304 (4.2 (0.6 [8.9 86.3| 4.8/ 473 02| 87.5| 4.6
FECEEBHTHD.
10 |ICTHBEEMITERALRENThR TS, (559 [38.7 3.2 (0.3 [1.9 94.6| 3.5\ a7 7.8(96.2 1.7] 96.7| 2.6
0% 20% 40% 60% 80% 100%
A:E<HTIEESD B: PPHTIEES C: HFEYHTIEFELHL D For< HTEELHL E: hHOHL sz T P 1Bt oks |a+s |c+p |a+B  |c+D
R aEm | Sew | axn | FEw | gxm | EEn | seeE | FenE
z=(® B Al B|C|D|E $n | Bn | BR | #r | Er | ER | m | ®
BREOPIF—HEDERNEETTBOREL
LR FrarA e bl 53.0 {39.0 [ 3.8 | 0.6 3.5 92.0 4.5 7.6\ 0 7{90.4/ 4.3] 98.0] 1.0
% 12 [QUOPEREHST. BHISHIELTW g 3 |75 (29 |06 7.7 88.8| 3.5|a0z 72890 23] 930 1.7
i EFRE (BHIL. BPESE) . XERE.
| 13 [RERLICET HEEAEYIZFHh TLN60.7 (339 [2.2 (0.6 [2.6 94.6| 2.9 27| 400 92.5| 2.9 92.6/] 3.2
14 ﬁ%gkﬁf’g*"*m:t’zﬁg’:@?Tﬁss.s 281221009 86.9| 3.2|az27 06| 89.6 2.6 93.0] 4.0
o ° 0% 20% 40% 60% 80% 100%
A:&<{HTIEES B: vOHTRESD C: HEYHTRESHL D: Fo-<{HTRELAL E:hhdhL wTEE A+B  lc4D 18t ok |a+ts |c+p |atB  |c+D
R DA OB BC 8D BE wEm | T | aen | Frw | g | Fen |sxns |sEns
= (® B Al B|C|D|E B8 | Bn | R | BR | BR | BR | = [
ERBERF(CKLY ., EBROFEEIZONT
. 15 e s, 58.8 (28.1 (2.2 [1.0 9.9 86.9| 3.2(427 06| 89.6] 2.6
1=
B BROFEDFEICH - ERIEEEFT-T
i | 16 |52 cim, 71.6 (252 (1.0 [1.0 1.3 96.8| 1.9] 03| 08| 96.5 1.2] 96.9| 1.4
EC
17 |2h o O EBER L@ T-TND, 65.5 (28.8 | 2.6 | 0.6 |2.6 94.2| 3.2 35| 06]90.7 2.6 96.8 1.4
0% 20% 40% 60% 80% 100%
A& HTIFES B:POHTEES C: HFEYHTIEESHL D Fol{ HTEELLL E: HHhDLEL %BTHRE A+B |[c+D TREOkE |A+B |c+D |A+B |Cc+D
I gEm | TEm | BEn | ZEn | 5N | SEm [ eees | menE
= (® B Al B|C|D|E B8 | Bn | R | BR | BR | BR | = [
- _ 18
BEROFRCABRER - BENTERNT
18 | e R BB L 53.7 {38.7 [ 2.9 [ 1.0 3.8 92.3| 3.8 0.7 1.2]91.6] 2.6/ 90.9| 8.1
Fa _ 19
ERITBLHIFEEL T, £REMAFEEL
@ 19 s s s 5 MAT g, %1 [#35 (89 |1.03.5 . 86.6| 9.9[ 430 35| 89.6/ 6.4
20 |ERESFBNERTHD. 54.3139.3 3.2 | 1.0 |2.2 - = P = = woos || 93-6 4.2 09| 0.7]92.8/ 4.1 95.8/ 1.8
A K< HTIEES B: POHTIEES C: HFEYHTEESHL D FoL HTEELHL E: hHLEL %TETE A+B |C+D TREDOLE |A+B |c+D |A+B |C+D
Bl [=A 0B =C =D =€ sww | mEm | B | mEm | BEm | B0 | BenE | sEnE
ey 5 alslclole (24 o8 ac up eg] wem | men | s | aew | aew | e |azes | sxee
AR TIE., HHEZHHRES Ot (CERAE
AN kil 524 |36.1 2.9 [1.6 [7.0| |2 88.5| 4.5 47| 017 83.8/ 4.3] 947/ 1.8
AT, EEN ST IE LB ERFH 22
? 2 | emicing, 49.5 (36.7 [ 1.6 | 0.6 |11.5 86.3| 2.2l 427 05]89.0 1.7 96.8| 2.1
= FRTE, TROF5] [mxbl TR 2
g |2 :,»gu LW EREIRTEBICHEANT|62.9 (31,0 (2.2 {0.6 3.2 93.9| 2.91 426/ 23| 96.5 0.6] 96.1| 2.5
w3,
B [ [eaEERREE v 7RE EEBEX 2
24 |5Ax% (YK) FOSTH kb I2DOCHZE|57.2 [34.5 1.6 | 0.6 | 6.1 91.7| 2.2l 402 7.7(91.9 1.2] 96.2| 2.1
FEEL TS,
25
2% | AKICAZCECTEM oL BoTINS, [58.8 (320 |42 (1.3 |29 91.7| 5.4 07| 08| 91.0f 4.6{ 95.0/ 4.0
0% 20% 40% 60% 80% 100%




